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1951 1980
mm

-4.0 12.2 569.9 7 2724 .4

3.5 15.7 1123.7 6 2014.0

13.3 21.8 1694 .1 5 1906.0

10.0 20.3 1537.4 5 1858.0

13.2 21.3 1554 .9 6 2097.5

15.6 23.3 1567.3 9 1937.8

3—1
4
9
3—1
4
2.
3—2
3—2 1970
A B C

A>B>C 47 27 26 673
A>C>B 56 16 28 798
B>A>C 35 37 28 1751
C>A>B 30 27 43 260
C>B>A 4 31 65 9179




0,]
J 1952 1956 1965 1978 1984 1989
83.5 80.6 81.6 70.7 64.2 60.2
7.4 10.7 8.4 17.6 20.2 21.9
9.1 8.7 10.0 11.7 15.6 17.9
0,
) 1872 | 1878 | 1897 | 1912 | 1920 | 1930 | 1936 | 1958 | 1963 | 1971 | 1980
85 78 72 62 55 52 45 37 29 16 | 10.3
5 9 13 18 22 19 24 26 31 35 | 34.8
10 13 15 20 23 29 31 37 40 49 | 54.9
1990 117
1985 41
57
3—4
1952 — 1952 — 1978 — 1984 — 1978 — 1952 —
() 1956(4) 1978(26) | 1984(6) | 1989(5) | 1989(11) | 1989(37)
K 6.6 25.6 17 8 21 46.6
1872 — 1872 — 1897 — 1912 — 1936 — | 1936-1980
() 1878(6) 1897(25) | 1912(15) | 1936(24) | 1963(27) 17
K 14 20 20 52 58 37.4
1992 183
K
g
K=a gij - Uio
i=1
K Jij i



1123 j Uio
0
3—3 1989 1952

3
K = Q (01,1989 - i, 1952 =|602 - 835 +]219- 7.4|+[17.9 - 94 = 466(%)
1

3—4
3—4 1912 1912
1952—1989 37 K 46.6
1912—1936 25 K 1912
1978—1989 11 K 21
1897—1912 15 K 1989

10 29 52 560
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i— n 2
J k— D E
Xii— i i
Xg— K i
B
[]
a XAXg 5 20+4 34
COSQue =5 > :J62+¥)’QW+BM)
Ja b
i=1 i=1
=0.98203
1
A B C D E
A 1 0.98203 0.98367 0.99921 0.99852
B 1 0.99996 0.97376 0.97030
C 1 0.97574 0.97241
D 1 0.99989
E 1
1
3.
A B C nA nB nC 1 1
A B

A A B A C

n n
COSOA'c = COSQargc = 1~ COSUac +——— COSCgc

A+B

nA, A B

A+B

1 cosB BC 0.99996

B

C B B C



Ny Nc

COSQpg ‘= COSUp gic = COS(p t COSQ s
B+C B+C
1, 1,
= > 0.98203+ > 0.98367 = 0.98285

- _ M Nc
COSOg p = COSUg.cp = n—COSC{ sp ¥ n—COSqDC
B+C B+C

1 1
= E " 097376+ E " 097574 = 097475
1 1 , 1 ,
COS(g 'z = COSQg,c g = > 0.97030 + > 097241
= 097136
2
A B D E
A 0.98285 0.99921 0.99852
B 0.97475 0.97136
D 0.99989
E
2 cosO DE 0.99989
E D D E
1 rlD r]E
COSQ,p = COSOp pie = cosq p t+ COSQ,e
D+E D+E

= % © 099921+ % " 0.99852 = 0.99887

n n

- — D E
COSqB D — COSqB',D+E - n COSqB'D + n COSqB'E

D+E D+E

1 1
== 097475+ > ~ 097136 = 0.97306

2
3
A B D
A 0.98285  0.99887
B 0.97306
D
3 COS,p 0.99887
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Na Np .
—— . C0S(g, t——COSQ; p
Na+p Na+or

1 2
=—-"098285+ =" 0.97306 = 097632

3 3
D'=D+E, Np'=2, Nup'=3
4.
0.99993
0.99938 0.98760
1 0.99993 [B C] [D] [E]l I[Al
4 3—6
2 0.99938 [B C] [D E] [A]
3 3—6 600—700m 350—400m
300—400m 100—150m 100m
40m
3 0.98760 [B C] [D E A] 2
3—6 600—700m 350—400m
100—400m 40—150m
0.99938 3
5.
1

0.9876 2
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3—38
3—8 1
a
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(i)
0 4.3 3 4 9 2.4 2 1.2 2 1.2 1 4 17
14 7.8 11 7.3 0 4.3 0 2.2 3 2.2 3 7.3 31
4 6 3 5.7 1 3.3 3 1.7 0 1.7 13 5.7 24
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E ] 0 ]
C| 0,238 0 0
F 0 0 0,238
& 3 0.476
C 1
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1987 12
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” 60
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320
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13—15 0.5—2
3—5 25
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20 100
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J— oﬁ A
X=a Xi/N
i 1
)3 Xi N
X 900 920 900 850 910+920 + 6 900
X = 890 960+950 850+860 890 + 6 900



Xi X Xi
N
18 . — 18 . —
3 :Eé (Xi - X)? S=\/Hé (Xi - X)?
i=1 i=1

Xi 990 920 900 850 910 920
Xi -X 0 -20 0 50 -10 -20
(Xi -X)? O 400 O 2500 100 400

S =1/6" 3400 =566.7

S =238

X
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100 100 100 10 x 100 1000 R

10 R=10 20 90 100=
550

897-550
1000-550 0.77
786-550
1000-550
_ 709-550
- 1000-550
0—1 1=0

0.52

=0.35

i j k 1 2 3 m

1 3 Oys 2 3
d,5=2.828 d;, 6.403 d,,=6.846 0—1

X1 X
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X = X - X]
i S
X'ij Xij 5i
0
4—3

I KaX2) | (hX0? | KakXan) | (o - Xg0? | Fax X300 | (xop-Xa1002
X1 | 6 4 4 2 4 2 4 0
X2 65 5 1 1 1 1 0
X3 2 13 1 1 -1 1 -2 4
X4 6 2 3 4 16 9 -1 1
X5 2 3 2 -1 1 0 0 1 1
X6 1 45 -3 -4 16 -1 1
X7 6 3 2 3 4 16 1 1
5 41 47 8
dij 6.403 6.846 2.828

n P
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é X Xl X U

e u
_aXaXpl Xy
éLLLLL u

2 Ly U
eXleNz X \D u

0
1 1=1 2 P X;
z,=2 L j=12 N
x_]. S, i
Z, 7, Zp
ézllzlzl— Z1p l;l
é a
7= é221222L ZZD l.,l
“eLLLLL
S u
éZleNzL Zyp
z, 7, z, R R
1
R=——7'Z
N-1
Jacobi R A u; 1=1 2
R-A 1 u=0 [
Aoy A
éauaul— ap U
é a
"aZlaQZL aZK ‘]
A=laal ad=a =4 || | g
é a
&p1Zpok Zpk
a;=(aj5,%5, ag) J=1 2 k
a; =4l -y
A=a; F; Z
R A
A
175 14



(6]
I
N

1 4.3830 0.3131 0.3131
2 2.9200 0.2086 0.5216
3 1.5568 0.1112 0.6328
4 1.2866 0.0919 0.7247
5 0.9811 0.0701 0.7948
6 0.8459 0.0604 0.8552
7 0.5594 0.0400 0.8952
8 0.4414 0.0315 0.9267
9 0.4047 0.0289 0.9556
10 0.2166 0.0155 0.9711
11 0.1505 0.0108 0.9819
12 0.1171 0.0084 0.9902
13 0.0834 0.0060 0.9962
14 0.0534 0.0038 1.0000
52

6 85.52

14

5—3

Xy
X11 X12
X5 X11 Xp2 X4



1 2 3 4 5 6
1. +0.2168 +0.7358 +0.2430 -0.1004 -0.0457 +0.4416
2. +0.8542 -0.0299 -0.2185 +0.3258 -0.0162 -0.0012
3. -0.3212 +0.4287 -0.1295 -0.4971 -0.0314 -0.5405
4. 0.7484 -0.3872 +0.3008 -0.1081 -0.0129 +0.2352
5. +0.7238 -0.5107 -0.0344 +0.0302 -0.0596 -0.2010
6. -0.1137 +0.9343 +0.0961 +0.0256 +0.0268 +0.1440
7. -0.7531 -0.5140 -0.0682 -0.0640 +0.0036 -0.0521
8. +0.3974 -0.1883 +0.7866 -0.0184 -0.0457 -0.0251
9. +0.1718 -0.0040 +0.0523 -0.0294 +0.9818 -0.0257
10. +0.4981 -0.2684 -0.5275 +0.2105 -0.0183 +0.2503
11. +0.6065 -0.3988 +0.6025 -0.0625 -0.0368 -0.0736
12. +0.6788 +0.0120 -0.1834 -0.5901 -0.0336 +0.0158
13. -0.7534 -0.3810 -0.0299 +0.2124 +0.0605 +0.1063
14. -0.0855 +0.4840 +0.1752 +0.6807 0.0266 -0.3985
Xs X1
Xs X
X X1
X11
X11
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